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17,848 - 17,157 - 16,373 -
0O 6 443 2.5% 380 2.2% 342 2.1%
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H25 6,539,378,250 2,509,535,020 2,831,148,840
H26 6,600,846,760 61,468,510( 2,543,494,460 33,959,440 2,754,337,170) 6 76, 81
H27 6,862,911,190| 262,064,430 2,597,487,620 53,993,160| 2,685,649,240) 0 68, 68
H28 6,446,059,000/ 6 416, 8922418961,830|/0 178, 5(525919083510{ 6 93, 72
! 1 4 3 § +
o 1 VA
73 J
H 26,352 11,148 15,204 3.229 2.87Y 3.48Y
5 23,958 9,745 14,213 2.32% 2.08Y 2.48%
6 24,500 10,062 14,438 2.86% 1.559 3.80%
23,292 2.25%
" 28,873 11,749 17,124 9.579 5.399 12.639
5 25,541 10,149 15,318 6.61% 4.159 1.77%
7 25,039 10,464 15,670 2.20% 4.00 8.53%
24,452 4.98%
" 28,188 11,345 16,842 -2.37% -3.44% -1.65%
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24,253 -0.81%
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65 74 8284 | %0 | 8271 | 478 | 814h | 292
4062 55e1 | 3L0 | 5oad | 303 | 4042 | 299
39 41507931 sl T 0 el T 509
232 23 713 KDB_NO.1
5 03 6 03 6 04
75 47 74 43 77 47"|KDB_NOS
1330 a0 a0 s T 806
184 10 181 106 175 106
676 7167 7401
203 210 204
26,352 28873 28188
69 47 63 [KDB_NO.3
697202 740741 760.506
577 593 59.8
971 972 973
423 407 402 KDB_NO.1
29 28 27
6.6 16. 1 15 38
%52 274 289
129 112 21 KDB_NO.3
79 76 75
87 83 80
153 127 147
150 158 155
62082112 0 1 (17) | 641,028 | 17 1 (17) | 638,001 ] 2 1 1 (19)
632850 | 26 | (18) | 643219 | 27 | (18) [ 628,966 | 2 8 1 (17)
557080 | 28 1 (20) | 569,120 { 28 | (19) | 556,786 1 30+ (20)
635241 | 26 | (18) | 637.368 | 27 | (18) | 714,829 [ 14 | (17)
734000 |15 | (16) [ 766,356 | 17 | (16) | 710,080 2 4 | (16)
760,008 | 15 | (18) | 829,861 | 17 | (20) | 719,689 [ 22+ (17)
4819101 26 | (26) | 477479 |29 |(25) [ 467516 | 31 . (25 |KDB_NO3
37 691837 | 7 1 (14) | 678887 | 18 | (14) [ 693,184 [ 13 | (13)
385 | 12 38970 | 16 36000 | 18
31154 |20 3368 |16 30730 |20
27161 | 23 28019 | 20 %44 | 24
33960 |30 36481 | 21 3007 |30
8087 |12 50083 |11 47858 |13
504217 | 10 | 2080341 8 507919 |10
33603 |6 %260 |5 300 |8
51310 | 14 54567 | 18 54703 | 18
3286 3717 3304 KDB_NO.3
11311 12787 12250
9288 10,101 8978
31069 34,746 33203
3313 | 560 | 342 | 571 | 3123 | 552
3080 | 517 | 3204 | 534 | 202 | 516 |\PB_NO1
554 43 257 37 201 36
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H26 815 44.18 10,096,613| 2,303,679 [H26 844) 45.76 3,858,681| 6,400,563
H27 825 45.32 10,071,640] 3,195,215| [H27 826| 45.37 3,251,408| 6,645,983
H28 778 44.75 7,873,833] 1,644,649 |H28 815/ 46.88 1,320,885| 4,484,881
v v
. ) 1 1
H26 137] 16.15 17.15 0.67 0.69 2,881,154
H27 149 14.64 17.92 0.40 0.72 2,518,063
H28 110] 11.60 18.75 0.43 0.72 2,156,244
KDB | 13 7 8 KDB 1 40
H28 ()
72
8
eLs Ned 3
¢+ D =8 KDB 2 2
A 0
H26| 170.99| 4.72 2.84 9.47 13.33 H26| 352.95 9.36 2.72 10.75 12.09
H27| 175.38| 4.39 2.57 9.04 13.43 H27| 375.31 | 22.36 6.33 11.40 12.10
H28| 178.10| 2.72 1.55 9.81 13.29 H28| 378.80 3.50 0.93 10.17 11.69
H26| 389.77 | 11.46 3.03 12.26 13.28
H27| 408.57 | 18.81 4.82 12.24 13.40
H28| 413.16 4.58 1.12 12.34 13.29
KDB 1 40
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902,475,930 | 16.75 | 1 7,957 9 53,240 1
’ - e 20,063,590 | 0.37 | 17 600 16 1,184 17
8 4 311,947,240 | 5.79 8 | 19,154 | 3 18,403 8
4 - 436,129,580 | 8.09 5 7,856 i 10 25,729 5
- 253,556,020 | 4.70 9 5358 | 12 14,958 9
- 198,150,790 { 3.68 | 11 | 12,673 | 7 11,690 11
- 23623530 | 044 | 15| 2394 | 14 1,394 15
- 853,767,120 | 15.84 | 2 | 31,777 | 2 50,367 2
- 216,272,640 i 4.01 | 10 | 14,414 | 6 16,951 12,759 10
- 668,143,660 | 1240 | 3 | 38,610 | 1 39,416 3
4 - 76,238,710 141 | 13 | 8277 8 4,498 13
4 - 385,838,110 | 7.16 7 | 18,061 | 4 22,762 7
- 426,054,760 | 7.91 6 5509 | 11 25,134 6
4 9 ko 11,478,610 021 | 18 168 18 677 18
- o 3,002,040 0.06 | 19 48 19 177 19
8 4 22,139,000 | 041 | 16 348 17 1,306 16
2 rJ Ao TMLLE 34,003,830 | 0.63 | 14| 1,880 | 15 2,006 14
/- - - 469,432,345 | 871 | 4 | 16,034 | 5 27,693 4
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1 1 1 1
bW 97.3
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40.2
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28
925 509 88 -
1-1 6.4% 9.5%
NO. 1asvVv 80 7348 1 4206 -
12 7799
5.7% 11.1%
1,085 68 142 -
2.1 6.6% 13.7%
NO. 1ds 6 4001 7401 -
4 7625
8.4% 15.5%
8509 131 432 322
2-2 15.3% 50.3% 37.5%
NO. 1asv 6826 2 1405 1 7316
4 2565
16.0% 50.3% 40.7%
H28.5
6.680 815 778 110
12.2% 11.6% 1.6%
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¢ 2 |8 | & o | - 09 % =Mz AC
3V 8 GPJ¥s HDLG 1 s HbAlg | 8 65 74 # % o= ™3 A°
| 65 74 #, 98 o — % ~= ™3 A % HbAlg - = ™=
Les 74 # < 43A0°% o J g LDEG ~= ™= | s <L
== Y%= TM=| A °
¢da4—e L - ™ 4 —
BMI GPT HDL-C HbAlc
25 85 150 31 4 0 100 5 6 7.0
H 587:25.2 [1,141{48.9 620:26.6 418{17.9 187 8.0 622:26.7 |1,231:52.8 424;18.2
2 40-64 194:34.6 289{51.6 180i32.1 165;29.5 43 7.7 92;{16.4 214:38.2 115;20.5
6 65-74 393i22.2 852:48.1 440i24.8 253/14.3 144; 8.1 530;29.9 |1,017:57.4 309/17.4
H 611:25.7 |1,175i{49.5 642:27.0 430/18.1 186; 7.8 663(27.9 |1,257:52.9 390/16.4
2 40-64 187:33.1 292{51.7 187{33.1 159:28.1 38{ 6.7 97:17.2 209;37.0 95i16.8
7 65-74 424:23.4 883i{48.8 455{25.2 271:15.0 148; 8.2 566{31.3 |1,048:!57.9 295{16.3
H 556i25.3 [1,064{48.3 618:28.1 396;18.0 190; 8.6 605/27.5 |1,176:53.4 338{15.4
2 40-64 151:28.9 239{45.8 171;{32.8 137;26.2 43] 8.2 97:18.6 188;36.0 89i17.0
8 65-74 405i24.1 825{49.1 44726.6 259:15.4 147 8.8 508/30.3 988/58.8 249/14.8
LDL-C
130 85 120 1 3
H 1,086:46.6 469{20.1 [1,159{49.7 49 2.1
2 40-64 200:;35.7 146{26.1 309;55.2 5 0.9
6 65-74 886;50.0 323{18.2 850{48.0 44; 2.5
H 1,099i46.3 464;19.5 [1,136{47.9 44; 1.9
2 40-64 189:33.5 138{24.4 305:54.0 4: 0.7
7 | e5-74 910:50.3 326/18.0 831/45.9 40, 2.2
H 986:44.8 374{17.0 |1,021:46.4 44; 2.0
2 40-64 175:33.5 127{24.3 278{53.3 3 0.6
8 65-74 811:48.3 247:14.7 743/44.3 41 2.4
BMI GPT HDL-C HbAlc
25 9 0 150 31 4 0 100 5. 6 7.0
H 625:17.4 555{15.5 592:16.5 290; 8.1 50{ 1.4 614{17.1 |1,799:50.2 76i 2.1
2 40-64 155:15.9 129{13.2 144{14.8 76; 7.8 5{ 0.5 135;13.8 390i40.0 11: 1.1
6 65-74 470:18.0 426{16.3 448{17.2 214; 8.2 45) 1.7 479;18.4 |1,409:54.0 65 2.5
H 617:17.0 582{16.1 558:15.4 311 8.6 62 1.7 661:18.2 |1,876:51.8 76; 2.1
2 40-64 143:15.0 118{12.4 123:12.9 74; 7.8 12 1.3 123(12.9 380:39.9 18; 1.9
7 65-74 474:17.7 464{17.4 435{16.3 237; 8.9 50 1.9 538{20.1 |1,496:56.0 58; 2.2
H 637:18.4 590{17.1 511:14.8 276; 8.0 477 1.4 652/18.9 [1,760:50.9 80i 2.3
2 40-64 142:17.0 113{13.5 117{14.0 70; 8.4 10 1.2 95i{11.4 317:37.9 17 2.0
8 65-74 495:18.9 47718.2 394:15.0 206; 7.9 37 1.4 557;21.2 |1,443i55.0 63i 2.4
LDL-C
130 85 120 1 3
H 1,589i44.3 477{13.3 |2,140{59.7 16; 0.4
2 40-64 306:31.4 131{13.4 592:60.7 1; 0.1
6 65-74 |1,283:i49.2 346{13.3 |1,548:59.3 15/ 0.6
H 1,562:43.1 446{12.3 |2,130{58.8 14; 0.4
2 40-64 261:27.4 124{13.0 566:59.5 1; 0.1
7 65-74 |(1,301:48.7 322{12.1 |1,564:58.5 13; 0.5
H 1,444:41.8 400{11.6 |1,971{57.0 9! 0.3
2 40-64 219:26.2 95i{11.4 480{57.4 0: 0.0
8 65-74 |1,225:46.7 305{11.6 |1,491:56.9 9: 0.3
KDB NO.23
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L
H 2,332 41.2 113 4.8%) 419 18.0% 22 0.9% 274 11.7% 123 5.3%)
2 40-64 560 25.3 40 7.1%) 110 19.6% 4 0.7%) 58 10.4% 48 8.6%)
6 65-74 1,772 51.5 73 4.1%) 309 17.4% 18 1.0%j 216 12.2% 75 4.2%|
H 2,374 43.0 112 4.7%) 441 18.6% 23 1.0%j 283 11.9% 135 5.7%)
2 40-64 565 26.9 34 6.0%) 131 23.2% 9 1.6%j 64 11.3% 58 10.3%
7 65-74 1,809 52.8 78 4.3%) 310 17.1% 14 0.8%) 219 12.1% 77 4.3%)
H 2,201 42.1 100 4.5%) 400 18.2% 16 0.7%) 270 12.3% 114 5.2%)
2 40-64 522 26.5 35 6.7%) 99 19.0% 5 1.0%j 51 9.8%j 43 8.2%
8 65-74 1,679 51.4 65 3.9%) 301 17.9% 11 0.7%) 219 13.0% 71 4.2%
3 =
H 609 26.1% 98 4.2%) 21 0.9% 325 13.9% 165 7.1%
2 40-64 139 24.8% 17 3.0%j 6 1.1%j 78 13.9% 38 6.8%j
6 65-74 470 26.5% 81 4.6% 15 0.8%) 247 13.9% 127 7.2%)
H 622 26.2% 93 3.9%) 33 1.4%) 327 13.8% 169 7.1%)
2 40-64 127 22.5% 12 2.1%) 9 1.6%) 72 12.7% 34 6.0%)
7 65-74 495 27.4% 81 4.5%) 24 1.3%j 255 14.1% 135 7.5%)
H 564 25.6% 71 3.2%) 23 1.0%j 310 14.1% 160 7.3%)
2 40-64 105 20.1% 9 1.7% 6 1.1% 67 12.8% 23 4.4%)
8 65-74 459 27.0% 62 3. 7% 17 1.0%j 243 14.5% 137 8.2%)
L
H 3,585 50.3 47 1.3%) 189 5.3%) 6 0.2%) 137 3.8%) 46 1.3%
2 40-64 975 36.6 20 2.1%) 51 5.2%) 2 0.2%) 32 3.3%) 17 1.7%
6 65-74 2,610 58.5 27 1.0%) 138 5.3%) 4 0.2%) 105 4.0%) 29 1.1%
H 3,624 52.0 52 1.4%) 192 5.3%) 11 0.3%) 118 3.3%j 63 1.7%)
2 40-64 952 37.9 20 2.1%j 49 5.1%) 5 0.5%) 22 2.3%) 22 2.3%)
7 65-74 2,671 60.2 32 1.2%) 143 5.4%) 6 0.2%) 96 3.6% 41 1.5%)
H 3,458 51.3 55 1.6%) 175 5.1%) 9 0.3% 117 3.4%) 49 1.4%
2 40-64 836 35.8 21 2.5%) 38 4.5%) 2 0.2%) 25 3.0%j 11 1.3%
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